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Dawson College: Civil Technology: 201-912-DW September 30, 2010

, Test 1

The length of the test is 1hr and 45min.

Question 1. (4 marks)
Simplify the following expressing your final answer with positive exponents only:
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Question 2. (6 marks)
(a) Solve for x. Express your answer as a fraction:
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* (b) Solve for Ry in the following equation:
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Question 3. (8 marks) .
(a) Find the equation of the line passing through the point (-8, 13) and parallel to the line
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(b) The temperature changes through the wall of a house at a constant rate. The wall is 31cm thick
and the temperature is 24°C inside the house. The temperature drops by 2°C for every 3cm moved
through the wall from the inside of the house to the outside of the house. Write an equation of the
temperature 7" as a function of the distance x from the inside to the outside of the wall. Use this
equation to find the temperature outside the house and halfway through the wall.
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Question 4. (10 marks) (round to 3 significant figures)
' (a) Convert 126 Ibs/in® to kg per cubic cm.
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, (c) Covert 346 ft-1bs (foot pounds) to N-m (Newton metres)
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(d) Convert 38.2Pa to Newtons per square decimetre (N/ dmz).
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Question. (3 marks) Find the exact values of the following (no decimals or rounding).
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Question 6. (5 marks) Solve the right triangel with side b = 123.2 and angle B = 42.21° (round
correctly).
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Question . (3 marks) State if the following angles are co-terminal or not.
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Question 8. (8 marks) Find 6 given (use the correct number of significant figures): .
(a)tan@ = —1.623 and 0° < 6 < 360°.
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(b) cscf =—1.45, tanf <0and 0< 0 < 27.
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Questionl (5 marks) A patio is in the shape of a cicuar sector with a central ahgle of 160°. It is
enclosed by a railing of which the circular part is 11.6m long. What is the area of the patio?
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